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Ch. 7 Appendix

Indifference curves Analysis

The Budget Line

—Income changes
—Price changes
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Indifference Curves

What is preferred
—Downsloping and convex
— Marginal rate of substitution
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Indifference Curve Analysis

» The indifference map
 Equilibrium position at tangency

12

10

Preferred —
W _|_~But Requires
More Income

Quantity of A

Quantity of B

7-4

STUDENTS-HUB.com

10/25/2011

Uploaded By: anonymozus


https://students-hub.com

10/25/2011

Demand Curve Derived
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Appendix Key Terms
 Budget Line

Indifference curve

Marginal rate of substitution (MRS)
Indifference map

Equilibrium position
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